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Table 2.1: Continued

System | Configuration of poles | Permeance
10 Cylindrical space between two salient
poles without a rotor
© tana
G= ﬂolM fO o do
To take into account the fringing flux the
permeance should be increased by 10 to 15%
11 Between a cylinder parallel to the salient pole
A\ with rectangular cross section at was > 4h
h @' G = bopmrvamr—n M
| I
where n = h/(2r). For wpr = (1.25...2.5)h the
permeance G should be multiplied by the
correction factor 0.85...0.92
- 12 \© A cylinder located parallely and symetrically
between two salient poles
> of rectangular cross section
h [
_ 1.25...1.40)x
G = poig (2n+74n2—1)1M
where n = h/(2r)
13 Between two parallel cylinders of different

rg/

\©

diameters

L

— 2
G= Hoty (u+Vui-1)

h".---r'?l —rzz

where u = T




